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library <Z{H[EAAHE> |
use <T(REEATE> <TEMFAE> all

HRATUEH
Y% in

Y% out

¥¢ buffer
Y% inout

library ieee ;

use ieee.std_logic 1164.all ;

use ieee.std_logic unsigned.all ;
use ieee.std logic arith.all ;

-~ [ R PR Nt 00 ([R] — R FTRT T 25 ([ 20

buffer std logic vector ( 3 downto 0);

I/OEM: in G a : in std logic;
out y : out std logic;
buffer D ff
inout D bus

inout std_logic_vector (7 downto 0);
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1. 7fFk(Boolean)
A flase B true Wi & RIAIRS

) variable flag : boolean :=fales;

if (flag = true) then
f — ’O 2 ;

2.fi77t(bit)
HA 0 Bl 1 Fifd

3 AR (std_logic)

FEH 00~ ‘U~ 7~ JUfEIpEE
7 —ElH
O REE

i a,0E : in std_logic;
f cout  std logic;

if OE= ‘1’ then

o [RS8 A
else Y —
f<: GZ’;
end if}
4 fir 7T A E(bit_vector) [HEES (38 «” %k

SR LR

#l: AB : bit_vector(0 to 8);

CD,E © bit_vector(7 downto 0);

signal C : bit vector(3 downto0) =" 1100"
BICB)="1" CQR)=1" C(1)=0 C(0)=0



5 ARG o) & (std_logic vector)
fERAE R EH M) B (std_logic_vector) B {i77T[mI & (bit_vector)Hy'E & B & FAHE » H72
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1. #E8(integer)
FoE - 23 F] 2%
-2147483648 to 2147483647
signal B : integer range 0 to 7; -- H15 B By 3 ATV EUE

signal C : integer range -16 to 15; - H% C B S fircAVEHE
signal D : integer; -- B4 D A 32 ﬁlﬁ:lﬂ’ﬁiﬁ
2 frEsf B (unsigned)
RIS EER > R E R

EHERT
LiEEEE T

HFE(signa)ig EEE T <=

Sty (variable)fg EEE T =

il © A<=B E A B Rilg(signal i
A =B & A 55E RS (variable)iF

2 AR B T EH S B 2 DA MRERIBIRE R RIS © “true” 5 "false”
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<= INREEY
G if a/=b then......



not nand
and Xor
or Xxnor
nor

IRt not P8t - HeErFEIRFEREE » KE /A2 E AR RPEIT
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abs “EEHE
mod  fHEg
rem BREL

MAX+plus TTHSZER 7+~ -~ %~ /7 TOREERT- > HERIURR R EE T E

SIEEET &

1 : 0 & T & T HERE 0117
011" & 7 017 &L 011017

6. B {EHEE T
rol :  [E/clEE
“1001010” rol 2 1s ‘0101010~
ror :  [EfEhEE
“1001010” ror 3 1s ‘0101001~
“1001010” ror -2 1s ‘01010107 AHEH® rol 2
“1001010” rol -2 1s “1010010” #HE}Y ror2
sl = [a/ERAL
“1001010” sll 2 is  “0101000” F&Ar{&ZE(r#’0°
srl 1 A%
“1001010” srl 3 1s “0001001” #&frigzefirsg’ 0’
sla @ ASREREARAL



“1001010” sla 2 1s 01010007 [mfEffrigzefrfmanirtiE’ o
sra 1 BIREEAEA
“1001010” sra 3 1s “1111001” [EAEMAIEZAERIAITE D
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library ieee ;

use ieee.std_logic 1164.all ;

use ieee.std_logic unsigned.all ;

use ieee.std logic arith.all ;

_ kst sfe sk sk s sk s st sk sk sk s sk sk st sk sk sk skeoske st sk sk skosk sk sk

_ kst sfe sk sk s sk s st sk sk sk s sk sk st sk sk sk skeoske st sk sk skosk sk sk

architecture Arch of NAND 2 is
begin

Y <=not(AandB);  --[EIHFIEAYTEAIL([F]—HF BT 2 (EHE A0
end Arch

A N2 e
- BRI
_ 3k sk sk sk skeosie sk sk sk st sk sk sk ske sk sk sk sk sk sk sk sk sk sk sk sk skeoskeosie sk sk sk sk sk sk sk sk skeskoskesk

architecture Arch of NAND 2 is

begin

Y<= A nand B;
end Arch
1T Ry T\l

_ kst sfe st sk s sk sk st sk sk sk sk sk sk st sk sk sk sk sk s e sk sk sk skoske s sk s ke sk skosk sk skokeosk sk

architecture Arch of NAND 2 is



begin
process(A,B)
begin
if (A="1") and (B="1") then {7 (£ process F LR ZIE P HATT)
Y<=0’;
else
Y<=1’;
end if}
end process;
end Arch;

_ kst sk st sk s sk sfe e sk sk sk s sk sk ke sk sk sk sk sk s ke sk sk sk sfeosie sk sk skosk sk skokesk sk

i 2
library ieee;
use ieee.std logic 1164.all;

use ieee.std logic unsigned.all;

use ieee.std logic_arith.all;

_ kst sfe ke sk s sk sfe st sk ke sk skeosk sk sk sk skosk skok

_ 3kt sk sk sk s sk sfe e sk sk sk s s sk ke sk sk sk s sk sk e sk sk sk sk s sk ke sk sk sk s sk s ke sk skosk sk skokesk sk

architecture adder 4 of add 4 is

begin
temp<= atb;
s <= temp(3 downto 0);
¢ <=temp(4);

end adder 4;



